(if x = number of small parcels, y = number of medium parcels, z  = number of large parcels) 
x = 26 
y = 8 
z = 6 
 So 26 small parcels, 8 medium parcels and 6 large parcels were delivered.
Form the system of the equations 
 x + y + z  = 40 
14x + 22y + 40z = 780 
z = 2y – 10 
 
1)



2)


a=6, b=32, c=12
From the given equation

6 people paid the Grabaseat fare.













Form the system of equations

46x + 39y + 249z = 824903
44x + 44y + 244z = 751960
26x + 36y + 242z = 620142

(if x=cost of a Business premier ticket, y=cost of a Premium economy ticket, z=cost of an Economy ticket)
x = 5894
y = 2839
z = 1507
So the cost of Business premier ticket is $5894, the cost of a Premium economy ticket is $2839,and the cost of a Economy ticket was $1507
3)
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Assessment Schedule — 2009

Statistics and Modelling: Solve equations (90644)
Evidence Statement

Question Achievement Sufficiency

ONE 1(3) comrect for
@ Achievement.

Equivalent words for interpretation are
acceptable.

Form the system of equations 105) comeet for
Mesit.

h-a+ m=30

Sh-a+ 3m=0

Sh-a =4

(a£h = weight of hazelauts, a = weight
ofscorched almonds, m = weight of
‘macadsmia muts)

=8

a=60

me12

508 kg of hazelnuts were crdered.

Since there sce amiiple | Must 10) AND 1(0)
soltions, the equations are |  explain how equations relted corect for
dependent (orequivalent). | o give geometnicalitepretation i words | excelience
Gecmetrcally.the three o
equationsrepresent planes | May use ot independent instead of
that meet along a commen | dependent.

line of nerseciion. Mustefer o he planes, ackequarons.

Firstitration gives new. Must
nterval of [-2-15]. « use the bisection metiod and
« show 2 complete iterations.

Second itesation gives new
nterval of (-2-175). Accept [-2-175] o =1EE
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You are advised to spend 55 minutes answering the questions in this booklet.
QUESTION ONE
(a) A manufacturer produces 500 g bags containing a mixture of hazelnuts, macadamia nuts and
scorched almonds.
In each bag, the weight of the scorched almonds is twice the weight of the hazelnuts.
The combined weight of the hazelnuts and the macadamia nuts is 100 g less than the weight
of the scorched almonds.
The following system of equations represents the situation above:
x+y+z=500
2x
y— 100
Solve the system of equations to determine the weight of macadamia nuts in each 500 g bag.
(b)  The manufacturer imports the three varieties of nuts by the kilogram
The most recent order totalled 80 kg.
The weight of scorched almonds was three times the combined weight of the macadamia nuts
and hazelnuts.
The weight of scorched almonds was four kilograms less than eight times the weight of the
hazelnuts
Set up and solve a system of equations to find how many kilograms of hazelnuts were in the
order. B
. . °
(¢) Two mathematics students, Kyle and Rebecca, were attempting to solve the following system =
Page: 1017 | Words: | 5 English (New Zealand) | EF: 120% (o) yE—)
) start| € ore past exam questio... | ) past exam questions | (1] More past exam auestio.. |[[i] AS 90644 2009 Excter... @2 [«® 2@ +2pm.
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Assessment Schedule - 2008
Statistics and Modelling: Solve equations (90644)
Evidence Statement

Question Evidence Judgement

One 6
12
2 cao

2w’ of small size stones were ordered. Must answer question in context.

‘Form the system of the equations:

40A+60B+100C = 3600 Or equivalent equations.
A=3+C

B=6+2C Must form the equations

AND

The cost of plant C s $12. Must answer question in context

15D +5E +20F =500 Must form the equations
D+ E+ F=75 AND

E=D+2F
Solving produces a result that shows the system of Must solve the equations (ie provide evidence that
peirndbarsoondmny the system of equations is inconsistent~ there is no

solution).

Must show algebraic evidence o solution.
AND





